8

900

1200

00¢

=
J< 107

663

130

]

i

\Al\ﬁlfaﬂw&ﬂfm\

68

9G¢

WHHTWHY

UHHTHHY

@}

@] b

| @]

[

[

OO O OO OO OO o oe o, e, e e

4]

17
=

1167

17
et

SEZIONEA-A

698

1155

=

=

& W

Y W

Y o

DATA

20/03/2025

APPROVATO DA

VLADUT.IACOMI

DESCRIZIONE

Emesso

DANILO.GIAMMARUCO
DANILO.GIAMMARUCO

PESO IN KG
73.46

TOLLERANZE
GENERALI
ISO 2768-1 mK

LA

SCALA

1:8 | —I\¥

FOGLIO
A2

REV.

00

PROGETTO Dl:

DISEGNATO DA:
MATERIALE

EROFFCAR

REV. | DESCRIZIONE

CODICE

10192038 |00 |M9TCG6C CUCINA GAS 6B.




ELENC@ PARTI

N° CODICE REV. DESCRIZIONE (ITA) DESCRIPTION (EN) BESCHREIBUNG (DE) DESCRIPTION (FR) DESCRIPCION (ES)
1 20100735 00 |ASS. MANTELLO CUCINA S90 - 1200 TOP
2 80300259 00 |VITE TB TX25 FLANG.A2 INOX M5X12
3 4 1829541 00 |MANIGLIETTE FE/ZN 9X34XM5 CRUS
4 1 [60201560 03 |SCHIENA RINFORZATA 1200 TOP MILO
5 4 80300260 00 |VITE AUTOFIL. DIN 7981/TX 4,8X13 ZNC
6 1 (80300138 00 |LOGO OFFCAR 36X36 METAL THIN LABEL
7 1 (20300012 00 |IMBALLO 1200 MILO TOP
8 1 |60201839 00 |CHIUS. ANTERIORE MACCHINE TOP 1200
9 1 (20300024 00 |KIT GIUNZIONE MACCHINE
10 1 (20100398 00 |ASS. CRUSCOTTO CUCINA 6F MILO MG
11 6 |80300098 02 | MANOPOLA MILO GAS D.8
12 3 80300125 00 |GHIERA MACCHINE MILO GAS POSTERIORE
13 3 180300124 00 |GHIERA MACCHINE MILO GAS ANTERIORE
14 1 (829420 00 |MANICOTTO INOX316 1/2 L.32 ART.270
15 1 [20100663 00 |ASS. PREASS. DISTRIB. TCG 6F MILO
16 1 (80300644 02 |TUBO USCITA GAS MACCHINE TOP S9
17 3 160200928 04 |COPERTURA FORO PIANO MILO - 400
18 1 (20100583 01 |ASS. TELAIO CUCINA CBG 6F S90
19 6 (20300021 00 |BAC. SOTTOS. SO FORATA PLUS - SBAV.
20 2 160201687 01 |OMEGA SUPPORTO BRUC. 6F CBG - S9
21 12 80300258 00 |INSERTO M5 ESAGONO ZINCATO
22 6 [440107 00 |GRIGLIA VET.1F S.90 396X378 GVS-980
23 3 817393 03 |TUBO GAS 10 BRUC.POST.C.  S.900S
24 3 |817381 03 |TUBO GAS 10 BRUC.ANT.L. 90S-EVO 700
25 3 817301 02 |TUBO GAS 6 PIL.ANT. S.700S/900S
26 3 817335 02 |TUBO GAS 6 PIL.POST. $.900S
27 6 [4000330 00 |GRUPPO GAS SERIE 65 TK BRUC. EVO D
28 1 (830151 00 |TAPPO FEMMINA ZINC. 3/8 300-Z 3/8
PROGETTO DI: DANILO.GIAMMARUCO
DISEGNATO DA: DANILO.GIAMMARUCO
MATERIALE
&oFFCAR® FOGLIO SCALA J/I 51 Tgtﬁgsﬂ? PESO IN KG
THE GREAT COOKING Az 1 : 8 T\, wrf ISO 2768-1 mK 7346
CODICE REV. | DESCRIZIONE
10192038 |00 |M9TCG6C CUCINA GAS 6B.

B C D E F G H | | L | M | N




8

DANILO.GIAMMARUCO
DANILO.GIAMMARUCO

PESO IN KG
73.46

TOLLERANZE
GENERALI
ISO 2768-1 mK

LA

SCALA

1:8 | —I\¥

A2

FOGLIO

PROGETTO Dl:

DISEGNATO DA:
MATERIALE

EROFFCAR

REV. | DESCRIZIONE

CODICE

10192038 |00 |M9TCG6C CUCINA GAS 6B.




A | B | C E G | | | L M |
ELENC( PARTI
N° QTA CODICE REV. DESCRIZIONE (ITA) DESCRIPTION (EN) BESCHREIBUNG (DE) DESCRIPTION (FR) DESCRIPCION (ES)
1.1 4 |844345 00 |PIEDINO REG.POLI.NERO 30XM10 40152N
1.5 1 |60201342 06 |FIANCO DX SERIE 90 TOP - MILO
1.6 1 |60201343 06 |FIANCO SX SERIE 90 TOP - MILO
1.7 1 |60201901 00 |PROT. INFER. CUCINA TOP - S9 1200
1.8 1 |60201559 03 |ANGOL. CHIUSURA POST. TOP S7 1200
3 4 1829541 00 | MANIGLIETTE FE/ZN 9X34XM5 CRUS
4 1 |60201560 03 |SCHIENA RINFORZATA 1200 TOP MILO
8 1 |60201839 00 |CHIUS. ANTERIORE MACCHINE TOP 1200
10 1 |20100398 00 |ASS. CRUSCOTTO CUCINA 6F MILO MG
15 1 |20100663 00 |ASS. PREASS. DISTRIB. TCG 6F MILO
19 6 |20300021 00 |BAC. SOTTOS. S9 FORATA PLUS - SBAV.
20 2 60201687 01 |OMEGA SUPPORTO BRUC. 6F CBG - S9
22 6 |440107 00 |GRIGLIA VET.1F S.90 396X378 GVS-980
27 6 |4000330 00 |GRUPPO GAS SERIE 65 TK BRUC. EVO D

PROGETTO DI: DANILO.GIAMMARUCO
DISEGNATO DA: DANILO.GIAMMARUCO
MATERIALE

ESOFFCAR’

THE GREAT COOKING

FOGLIO | SCALA
|/

A2 | 1:8 =T&

TOLLERANZE
GENERALI
ISO 2768-1 mK

PESO IN KG

73.46

CODICE

REV.

DESCRIZIONE

10192038

00

MOTCG6C CUCINA GAS 6B.

L | M




PARTICOLARE B

15.4
15.3
PROGETTO DI: DANILO.GIAMMARUCO
DISEGNATO DA: DANILO.GIAMMARUCO
MATERIALE
® FOGLIO SCALA J/I 5 TOLLERANZE PESO IN KG
. - GENERALI
EROFFCAR" [ p) 1.5 =@ oo [ 34
CODICE REV. | DESCRIZIONE
10192038 |00 |M9TCG6C CUCINA GAS 6B.
B C D E F G H | | L | M | N




A | B | C | E G | | | L M |
ELENC( PARTI
N° QTA CODICE REV. DESCRIZIONE (ITA) DESCRIPTION (EN) BESCHREIBUNG (DE) DESCRIPTION (FR) DESCRIPCION (ES)
10 1 |20100398 00 |ASS. CRUSCOTTO CUCINA 6F MILO MG
11 6 |80300098 02 |MANOPOLA MILO GAS D.8
12 3 |80300125 00 |GHIERA MACCHINE MILO GAS POSTERIORE
13 3 |80300124 00 |GHIERA MACCHINE MILO GAS ANTERIORE
14 1 |829420 00 | MANICOTTO INOX316 1/2 L.32 ART.270
15.1 1 |20100603 01 |ASS. DISTR CUCINA 1200 MILO UN. LAV
15.2 6 401121 00 |RUBIN.GAS COLL.COMP.RACC.21S S7/9S
15.3 2 |853994 00 |RONDELLA RAME 4X8X2
15.4 1 |852491 00 |VITE TE INOX FINTA ROND.  M4X10
16 1 |80300644 02 | TUBO USCITA GAS MACCHINE TOP S9
23 3 |817393 03 | TUBO GAS 10 BRUC.POST.C.  S.900S
24 3 |817381 03 | TUBO GAS 10 BRUC.ANT.L. 90S-EVO 700
25 3 |817301 02 |TUBO GAS 6 PILANT. S.7005/900S
26 3 |817335 02 |TUBO GAS 6 PILPOST.  S.900S
28 1 |830151 00 |TAPPO FEMMINA ZINC. 3/8 300-Z 3/8

PROGETTO DI: DANILO.GIAMMARUCO
DISEGNATO DA: DANILO.GIAMMARUCO
MATERIALE

ESOFFCAR’

THE GREAT COOKING

FOGLIO | SCALA
|/

A2 | 1:8 =T&

TOLLERANZE
GENERALI
ISO 2768-1 mK

PESO IN KG

73.46

CODICE

REV.

DESCRIZIONE

10192038

00

MOTCG6C CUCINA GAS 6B.

L | M




A B C D E [ L M N
1
2
3
4
5
6
7 (27.10) 27.9
PROGETTO DI: DANILO.GIAMMARUCO
DISEGNATO DA: DANILO.GIAMMARUCO
MATERIALE
® FOGLIO SCALA TOLLERANZE PESO IN KG
8 DY GeneraLl
QQEETC:A.NRG A2 1:2 | — wﬁ ISO 2768-1 mK 73.46
CODICE REV. | DESCRIZIONE
10192038 |00 |M9TCG6C CUCINA GAS 6B.
A B C D E | | L | M |




A | B C | E G | | | L M |
ELENCQ PARTI
N° QTA CODICE REV. DESCRIZIONE (ITA) DESCRIPTION (EN) BESCHREIBUNG (DE) DESCRIPTION (FR) DESCRIPCION (ES)
27.1 6 |839321 00 |"CORPO BRUC.""D"" SERIE 65 10KW EVO"
27.2 6 |839355 00 |"SPARTIFIAMMA""D""10KW EVO 65.SDTK.LAV"
27.3.3 6 |4550503 03 |STAFFETTA PILOTA BRUC. EVO
27.4 6 |839347 00 |PORTAUG. RIB. D.10 SERIE 65 65.RUN2
27.5 6 |829247 00 |UGELLO M10X1 DIAM 2,35  65.235
27.6 6 |829326 00 |UGELLO M10X1 DIAM 1,40  65.J140
27.7 6 |837201 00 |PILOTA 1VIA MULTIGAS 0100013
27.8 6 |852045 00 |VITE TE INOX M5*16 DIN933
27.9 6 |837287 00 |UGELLO GAS MET.DIAM.0,40 0977032
27.10 6 |837297 00 |UGELLO GAS GPL DIAM.0,20 * 0977030
PROGETTO DI: DANILO.GIAMMARUCO
DISEGNATO DA: DANILO.GIAMMARUCO
MATERIALE
&oFFCAR® FOGLIO SCALA 1 R Tgtﬁgsﬂ? PESO IN KG
THE GREAT COOKING A2 | 1:8 | — Y| sooregimk | 7346
CODICE REV. | DESCRIZIONE
10192038 |00 |M9TCG6C CUCINA GAS 6B.
A B C E G | | L | M |




